FB401

B
25 30
A 1 ]
e F/m
“  H/m o S/m ]
1) E V/m H A/m w rad/s
(
E=—j o uH
H=(o+joe)E
(2)
x E —-lou[ AlH
3)
x E E °E
@)
E 0
o) H E
2
TClE+yE=0
"= v
G H
2
[ CJH+y H=0
A C D
1 —joulo+joe
2 joulo+jwe
3 jwu(a +j ws)
x joulo+joe
x 2 = (UM(U +joo£)
A 2 40 km
4 kW 30 dB
2 m?
300 p W 2 400 puW 500 u W 600 p W 700 p W
A 3 [ ]
D(0)
(1) D (6)
(2) D (6) D (6)
A B C
cos(Zsing
1 sin’g M
sind |
) - cos(%cosﬁ) \ 0
sin ‘
siné \
cos(Zsing
sin® (2 ) I
sind ‘
cos|Zcosh | 0: rad
cos’0 M \
sing
cos(Zsing
sin®0 M
sin@

(FB401-1)



)
R=[_ ] @
(2)
P, W
I'm
6 rad 0
M 2
o= 15 ds=[ | w
"1 1207
@) @O @
A B
L P, : 807 1]%°
1201 | A2
5 P, 16017 1]%1°
120n]1]* 2°
3 P, 7 1)41°
120n]1]* 2°
4 P 7 1)41°
1k At
5 P 80n? 1]
Lk At
5
1
2
3
4
5
6
Zg
l,+1, =2/2  m
1 00 Q
2 2Z9 Q
3 Zg/2 Q
4 Zo/l4 O
5 0 Q

ab

I, #

V/m

A m
0l,#

0

Zab

P, W
z
A
ds
rdo
1 - - - -
X
S r
0 de
o >y
Il
I, m lLb m
O
a
b
O
< 1, } I %

(FB401-2)



(1)

(2)
(3)
(4)

a b~ W N B

73

10

a b~ W N B

g B~ W N PP

250
300
450
500
550

N

0.8
1.2
2.4
3.5

4.8 m

OO OO

pF
pF
pF
69
97

3 3 3 3

] 1
Ag m
]
]
Il m [ D | m
/ (
=
| |
— J
1 2 3
B C D
Ag/ 2
Ag/ 4
Ag/ 4
Ag/ 4
Ag/ 2
163 Q 174
d mm 2
D 15 cm
\ L
O O
1 | D | 1
Z, 730 Q Z
C
30/t MHz
Z,
pF
pF
120 MHz
3
A m

‘% A/Z%‘
| l
| 2! l

(FB401-3)



11

f

D

(1) 6
(2)
(3)

O @< @~ B< G= g

—_—— — —— . .

12

(1)

rad

2|

2"(n= 1,
rad
C

/2™
J'[/2n+l
/2™
a/2"
/2"

(2)
1
2
3
4
5

13

(FB401-4)



14

(1)

(2)
(3)

g B~ W DN

15

16

(1)

Cos X

20 m

(2)

)

Xd

(3)

|

(1)

(2) N

(3)

ga B~ W N B

]
0 90
90
| B |
| B | . Cc ]
B C
31.85 km
6, 370 km
1 e
40 m 50 m 4 60 m 5 80 m
]
X a
| D |
B C D
]
N
n 1 N n [ A
N
n; n, r
| L c | N
B C
cosi /cosr
sini /sinr
sini /sinr
sini /sinr
cosi /cosr

(FB401-5)



20

10 ()
C )
1 3.5 2 5.0 3 75 4 10.0
(1)
2
(2)
A B c
1
2
3
4
5
(1)
R Q I A
Pa= | W
(2) X E V/m
p
p=[_ | wm’
(3) X E P Pa
A= | m
(4)
Pa= | W
(5) A,
A= | m
E? p
2 o _
IR, 27, N
|I|2 E? Pa
4R, Z, p

5 155

10

vz,

2R E?
V3z,
4R E?

( VSWR )

(FB401-6)



2 TEM ]
(1) [ ]
(2)
(3) ]
(4) [ ]
(5) TEM 1]
3

Xy o
(1) z A4

z . Im
[ ]
) z

(2) z yz z

6 rad D(6)

z ]
[ ]
1 -A/2 2 3 Zsin(%cose)
6 -A/4 7 8 gn(gcose)
4
2

( VHF )

10

(FB401-7)



] o
cos(%):: (1+c03a)/2 A B C ab c
&=b"+ - BcosA ]
(1) 1 L m 1 D m
2 L' m L L AL
L D 2
AL=L'-L=] | &
- 1D\ _ -D?
_L{1+2(2L)/ L_8L m
A m AL A6
A0 =] | rad
(2) 1 E, V/m E, V/m 2
E, V/m E &
E V/m 1 w/m A6
E' 2
E-:E:Excos(%g) V/m
E'/E:cos(%)
(3) A0=n/8 rad E'/E ™8 2 % 2 %
2 2
JLZ+D? gi_ V2E, V2E,/1 + cosAf 25
2. (D)? nD?2 D2
L +(2) L 2E, V2E /1 —cosAf 10 —-

(FB401-8)



